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Find the following,
A fruit seller sell 25 kg mangoes today yesterday he sold 20 kg. What is the per
cent increase?

Increase Decrease as Percent

Date

Roll No

A cricket feam won 8 game this year against 10 games won last year. What is the
per cent decrease?

Cost of milk is 55 rupees per liter this year. It was 50 rupees per liter last year.
Then find the increase cost percentage.

My father says, in his childhood petrol was 2 rupees per liter. It is 72 rupees per
liter foday. By what Percentage has the price gone up?

Find the percentage increase or decrease,

1.

ohwn

From 0.002 to 0.004
From 0.004 to 0.006
From 0.25 t0 0.35
From 0.90 to0 0.80
From 0.99 to0 0.66
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